Temel Formuller

sin?x+cos’x=1

COS(X+Yy)=C0SX Cosy - Sinx siny
sin(x+y)=sinx cosy + siny cosx
sin(-x)=- sinx

cos(-x)=cos(x)

tan(-x)=-tan(x)

C0S(X-y)=C0sX cos y + sinx siny
sin(x-y)=sinx cosy - siny cos X

COSX cosy:% [cos(x+y) +cos(x-y)]
sinx siny :% [ cos(x-y)- cos(x+y)]

sinx cosy :% [ sin(x+y)+ sin(x-y)]

cos(x+90)=- sinx
cos(x- 90)= sinx
sin(x+ 90)= cosx
sin(x- 90)= -cosx
cos(90-q)= sing
sin(90-g)= cosq
cos(2x) = 2c0s*x -1

cos’x :% [ 1+cos(2x)]
cos(2x) =1- 2sin*x
sin®x :% [ 1-cos(2X)]
Sin2x =2 sinx cosx
cos q = 20052% -1
cos g = 1-25in2%
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sin“g==- = sin(3qg) +=sin
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sin(3q)= -4sin®q +3sinq
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c0s3q=4 cos’q -3 cosq

tan(x+y) = tanx+tany
1-tanxtany
tan(x—y) = tanx—tany
l+tanxtany
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sin x vJ1-cos? x

tan x = =
J1-sin? x COS X
tan x
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